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EXERCICES DE REVISIONS MATH -

Classe de 5°

Corrigé de I'exercice 1

Effectuer sans calculatrice :

1. —11+(-7)=-18
»2. —24+8=6

3. 3+5=2

»4. 12 +4 =16

»5. 6—-8=-2

»6. 3+ (—6) = -3
»7. —6—(—5)=—1

Corrigé de I'exercice 2

Effectuer sans calculatrice :

1. -9+ (—6)=—-15
»2. -3+9=6

»3. —24+7=5

4. —7T+1=-6
»5. —1+(-8)=-9
»6. —9+5=—4
»7.6-1=5

Corrigé de I'exercice 3

Effectuer sans calculatrice :

»1.0+1=1
»2. -3+ (-2)=-5
»3.2+9=11

»4. 14+10=24
»5. 5-3=2

»6. 5+ (=5)=0

»7. -2+ (—10) = —12

Corrigé de I'exercice 4

Effectuer sans calculatrice :

»l. 6+ (-2)=-8
»2. 10+ (-9) =1
»3. 24+ (1) =1
»4. 6+ (—5)=1
»5. 0-9=-9
»6. -1 -8=-9
7. 4+ (—6)=-2
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—64(—8) =—14
2+1=3
1—(—6)="7
—2-8=-10
3+8=11
5+1=6
5-9=—4
1-2=-1
1-7=-6
1—(-7)=8
7+1=38
—7+4(=5) = —12
0—(-1)=1
—2—(~10) =8
9+ (—1)=8
6+4=10
2-9=-7
—24+6=4
7-(-2)=9
—6-2=-8
16-7=09
147=38

19— (—10) = -9
6+(—1)=5
13-10=3

L T+6=13
.8-5=3

L T—5=2
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—0,6—15=-21
8,3+8,7=17
—41+(-1,2)=-53
54+8,1=135
10,2—1,3=8.9
0,8+ (—9) = —8,2

9-0,2=288
3+31=6,1
—51—(-5,6) =05
~1,6+ (—6,3) = —7,9
—0,7—2=-27
~10,2 — (—=3,7) = —6,5

34-96=-6,2
—5+13=-37
—68+02=-6,6
0,7-98=-91
59+5.4=11,3
57+ (=7,7) = -2

44— (~15)=5,9
—64+39=-25
—33+(-9,7) =-13
—0,1—4,1=-472
—45-29=-T74
9,6 +82 =178
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